L—R155) iEER RE—E
(ESHEIRBOBELE, DU, R, RE, BIBEIHK)

* 2R FiE REFE (21:48)
BRES. 2ES L—R 155
B v BF4. FE. # X 2i& 3E B Ty
B, 8 @ @ ® ® ® ® PO dE EH HE LAY BE EE LAY
fix 68 4 4 5 8 71125 4 O 58 11.7 19.1| 0 3.42 3.495| 3.47 5.39 3.573
2528 (MN—H£%) 40 0 1 1 3 3 8 24 0 0 0.0 2.5 5.0 0 3.42 3.495 3.47 6.20 3.584
(zofti—#%)| 28 4 3 4 5 4 3 1 4 0 14.2 25.0 39.2] 0| 3.43 3.506| 3.49 4.25 3.558
1. = BB o | (eomcH) - L
na 26 0 1 4 0 2 2 710 O 0.0 3.8 19.2| 0| 3.42 3.482| 3.47 6.34 3.563
fiix 25HA RIS
495% SRAR 9 0 0 2 3 1 0 1 2 0 0.0 0.0 22.2| 0 3.47 3.505 3.51 5.11 3.570
LLB5 12 0 0 0 2 2 6 2 0 O 0.0 0.0 0.0/ 0| 3.41 3.468| 3.47 5.66 3.557
fix 70 10 10 14 914 7 5 1 0 14.2 28.5 48.5 0| 3.32 3.417| 3.39 3.75 3.480
2728 (MN—H#%) 39 3 7 11 5 7 4 2 0 0 7.6 25.6 53.8 0 3.32 3.417 3.38 3.66 3.459
(zoft—H%) 26 7 3 3 4 6 2 1 0 O 26.9 38.4 50.0, 0| 3.36 3.455| 3.42 3.34 3.511
M KA BB 10 (zoftcH) 5.0 0 0 0 1 1 2 1 0 0.0 0.0 0.0/ 0 335 3439 339 6.60 3.474
na 12 0 1 4 3 2 0 1 1 0 0.0 8.3 41.6| 0 3.36 3.436 3.39 4.25 3.463
firtx 275A RERIG 7 0 0 2 1 2 1 1 0 O 0.0 0.0 28.5| 0| 3.34 3.439| 3.37 4.71 3.463
485% SRAR 10 0 1 3 2 4 0 0 0 O 0.0 10.0 40.0/ 0| 3.34 3.428| 3.37 3.90 3.463
L5 9 1.0 2 0 1 5 0 0 O 111 11.1 333 0| 3.37 3.441 3.38 4.66 3.465
A 15 1 4 1 2 4 2 0 1 0 6.6 33.3 40.0 0| 3.34 3.437 3.40 4.00 3.510
2906 (MN—£%) 5 1 2 0 2 0 0 0 0 0 20.0 60.0 60.0 0 3.34 3.437 3.36 2.60 3.456
(ROAb—#T) 10 0 2 1 0 4 2 0 1 © 0.0 20.0 30.00 0| 3.40 3.492| 3.42  4.70 3.537
N SHE# 10 ot
na 17 3 4 3 1 1 0 4 0| 176 41.1 47.00 0| 3.34 3.452| 3.39 4.05 3.486
yEAR 295A FRERIS 3 0 0 2 0 0 0 0 O 0.0 0.0 33.3] 0| 3.37 3.444| 3.39 3.66 3.474
435% SRAR 76 8 9 13 91110 9 7 0/ 105 22.3 39.4 0 3.31 3.415 3.38 4.40 3.483
L5 12 3 1 2 4 2 0 0 0 0| 250 333 50.00 0 3.34 3.428 3.36 3.08 3.445
ARis 49 5 8 413 8 5 5 1 0 10.2 26.5 34.6/ 0 3.33 3.408 3.38 4.04 3.471
2818 (MN—£%) 26 1 2 2 8 6 3 4 0 0 3.8 11.5 19.2 0 3.33 3.408 3.37 4.57 3.455
(ZOAft—H%) 16 4 2 1 4 2 1 1 1 0 25.0 37.5 43.7 0 3.36 3.462 3.40 3.62 3.499
N BERIBA 20 ofte)) 7 0o 4 1 1 0 1 0 0 O 0.0 57.1 714/ 0| 334 3416 337 3.00  3.464
na 12 1 2 2 0 0 3 1 3 0 83 25.0 41.6/ 0| 3.32 3.419| 3.37 5.00 3.469
ARt 28EA FRERIG 9 1 1 3 0 1 2 0 1 0 11.1 222 555 0| 3.34 3.433 3.36 4.11 3.461
447% SRR 5 0 1 0 0 0 0 2 2 O 0.0 20.0 20.0/ 0| 3.34 3.418| 3.36 6.40 3.457
LIS 27 2 2 7 4 1 5 4 2 0 7.4 148 40.7| 0| 3.33 3.429| 3.37 4.51 3.467
ARz 42 813 7 4 3 5 1 1 0| 19.0 50.0 66.6 0 3.29 3.383| 3.36 3.11 3.457
2931 (MN—fi%) 23 5 7 5 2 1 3 0 0 0 21.7 52.1 73.9 0 3.29 3.383 3.34 2.82 3.428
(Db —H%) 14 3 3 2 1 2 2 0 1 0 21.4 42.8 57.1 0 3.35 3.457 3.40 3.50 3.503
5 44 3= 30| (o) 5 0 3 0 1 0 0 1 0 O 00 600 600 O 330 3399 335 340  3.459
na 9 1.0 0 1 2 0 3 2 0 111 111 111 0| 3.34 3.429 3.39 5.77 3.473
ARtz 295A FRERIG 15 5 0 6 1 0 0O 1 0 2| 333 333 733 0| 3.31 3.426| 3.33 2.61 3.440
405% AR 13 4 4 2 0 0 1 2 0 0/ 307 615 769 0| 3.31 3.399 3.34 292 3.436
LIS 16 4 3 1 3 1 2 2 0 0| 250 437 50.00 0 3.29 3.358 3.33 3.50 3.423
ARi5 56 6 914 9 8 4 5 0 1 10.7 26.7 51.7 1| 3.27 3.365| 3.34 3.65 3.438
3306 (MN—fi%) 35 5 7 9 5 4 2 3 0 0 14.2 34.2 60.0 1 3.27 3.365 3.32 3.40 3.419
(ZDAh—H%) 13 0 2 5 1 3 0 1 0 1 0.0 15.3 53.8 0 3.35 3.455 3.41 3.75 3.492
*u_l {Eﬁ 40 (ZOfhGH) 8 1 0 0 3 1 2 1 0 0 12.5 12.5 12.5 0 3.32 3.410 3.33 4.62 3.440
na 16 3 1 3 2 1 2 3 1 0| 18.7 250 43.7| 0| 3.30 3.403 3.33 4.25 3.424
Arix 33HA ARG 4 0 1 1 1 0 1 0 0 O 0.0 25.0 50.0/ 0| 3.33 3.426| 3.36 3.75 3.457
267% SRR 24 1 1 3 4 3 2 5 5 0 4.1 8.3 20.8/ 0 3.32 3.408 3.36 5.41 3.449
LLB5 25 4 3 3 4 2 4 5 0 0 16.0 28.0 40.0/ 0 3.29 3.374| 3.34 4.16 3.414
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* 2L—-R Fi#

FFENR

L—R 35 5 AR

(EETREBOBELFE, IE FRRIZ. REB, FLEREFFRC)

FETPE (21:48)

ERES. 2ESY
# 7 BT & AR 2 = 2i <IN BE Ty
LERES @ @ ® ® @ B ME EAY BE BE LAY
AR 17 1. 0 1. 0 2 3 9 1 0 5.8 58 11.7| 0 6.05
2528 (MN—f%)| 13 1 0 0 0O 1 3 8 0 O 7.6 7.6 7.6/ 0 6.15
(oft—#%)| 4 o0 0 1 0 1 0 1 1 0 0.0 0.0 250, 0 5.75
ma
BRixX 2584 REE
497% AR 5 0 0 0110 1 2 O 0.0 0.0 0.0 O 6.40
P 5 0 0 0 0 1 3 1 0 O 0.0 0.0 0.0 O 6.00
iz 17 0 1 2 3 3 3 50 0 00 58 176 0 5.17
2728 (MN—#%) 10 0 1 2 2 2 2 1 0 0 0.0 10.0 30.0, 0 4.50
(oft—#)| 3 0 0 0 1 0 0O 2 0 O 0.0 0.0 00/ © 6.00
l KA BE - 10| *ofte®)| 4 0 0 0 0 1 1 2 0 0 0.0 0.0 00/ 0 6.25
nme 1 0O 0 0 1 0 O 0 0.0 0.0 0.0 5.00
HRiz 27HA REAIE
48i% AR 4 0 0 0 1 0 1 2 0 O 0.0 0.0 0.0 O 6.00
P 3 0 1 1 1 0 0 0 0 O 0.0 33.3 66.6/ O 3.00
Al 3 0 0 0010 200 0.0 0.0 0.0 O 6.33
2906 (MN—38) -
Zoft—#) 3 0 0 0 0 1 0 2 0 0 0.0 0.0 00/ © 6.33
me
AR 2984 REE
437% R/ 13 0 1 4 1 1 2 2 20 0.0 7.6 384 0 5.00
P 30 0 2 0 O 1 0 O O 0.0 0.0 66.6/ 0O 4.00
Al 18 4 5 1 2 1 3 2 0 0 22.2 50.0 555 O 3.44
2818 (MN—f%)| 10 3 4 0 1 0 2 0 0 O 30.0 70.0 70.0 0 2.70
(oft—#%)| 3 1t 0 0 0 1 0 1 0 O 33.3 33.3 333 0 4.33
N BERIBA 200 ®ofte#)) 5 o 1 1 1 0 1 1 0 0 0.0 20.0 40.0/ 0 4.40
ne 4 2 0 1 0 1 0 0 O O 50.0 50.0 75.00 0 2.50
Eriz 28HA REAIE 11 0 0 0 0O 0 0O O O] 100.0 100.0 100.00 O 1.00
447% R
1P 3 0 1.0 1 0 1 O O O 0.0 33.3 33.3] O 4.00
Ak 22 0 3 6 3 2 2 4 2 O 0.0 13.6 409 O 4.63
2931 (MN—#%) 12 0 1 5 1 0 2 3 0 0 0.0 8.3 50.0, 0 4.50
Zoft—#) 4 0o 1 1 1 0 0 1 0 0O 0.0 25.0 50.0, 0 4.00
5 44 323 30| (cofic#®)] 6 0 1 0 1 2 0 0 2 O 0.0 16.6 16.6| 0 5.33
ne 2 1 0 0 0 0 1 0 0 O 50.0 50.0 50.0/ O 3.50
ERIx 29HH R8I 2 0 0 0 0 0 2 0 O O 0.0 0.0 0.0 O 6.00
40i% AR 1 0 0 0 0 01 0 O O 0.0 0.0 0.0 O 6.00
L5 10 3 2 3 1 0 0 0 1 O 30.0 50.0 80.0/ O 2.80
Ak 16 1 2 2 3 2 3 2 10 6.2 18.7 31.2| O 4.56
3306 (MN—#%) 7 0 1 2 2 0 1 1 0 O 0.0 14.2 42.8/ 0 4.14
oft—#%)| 3 0 0 0 0 1 1 1 0 O 0.0 0.0 00/ © 6.00
AL EHE 40 (ofte#®) 6 1 1 0 1 1 1 0 1 0 16.6 333 333 0 4.33
ne 3 0 0 1 0 2 O O O O 0.0 0.0 33.3] O 4.33
Btz 33HA R 6 1 0 1 1 0 2 1 0 0 166 16.6 33.3] 0 4.50
26i% AR 1 0 0 0 1 0 0 O O O 0.0 0.0 0.0 O 4.00
L% 8 0 3 2 0 1 2 0 0 O 0.0 37.5 62.5/ 0 3.62
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L—R155 BHER Ri—&
(EFTERBOBEIE, Ik, R, RE. SIEBERIR

* 2U—A Fi# HEFE (21:48)
SRES. 2ESY L—R 15 5l AR
# 7. &F4. W& 2 = 2i <IN BE Ty
RA. i @ ® @ & ® @ & g HE HH HE Y BHE BE LAY
i 5 1 0 00 11200 200 200 200 O 5.20
2528 (MN—#%) 31 0 0 0 0 1 1 0 O 33.3 33.3 333 0 4.66
(ZO—H%) 2 0 0 0 0 1 0 1 0 O 0.0 0.0 0.0/ 0 6.00
ne
ERizx 2588 R
495% PEZ /N 4 0 0 O O O 0 2 2 O 0.0 0.0 0.0/ O 7.50
LLIB5
i 6 0 1 1110200 0.0 16.6 333 0 4.66
2728 (MN—#%) 5 0 1 1 1 1 0 1 0 O 0.0 20.0 40.0/ 0 4.20
A KA BB 10 (zofthcH) 1 0 0 0 0 0 0O 1 0 O 0.0 0.0 00 0 7.00
ne 1 0 0 0 01 0 O O O 0.0 0.0 0.0/ O 5.00
ERizx 275A R
48i5% PEZ N 1 0 0 0 01 0 O O O 0.0 0.0 0.0/ O 5.00
LLIF5 2 1 1 0 0 0 0 0 0 O 50.0 100.0 100.00 O 1.50
AR 1 0 0 01 0OOTO0OTO 0.0 0.0 0.0 O 4.00
2906 (MN—#%) 1 0 0 0 1 0 0 0 0 O 0.0 0.0 0.0/ 0 4.00
(BROAB—AE) |-
ne 11 0 0 0 0O 0O O O O] 100.0 100.0 100.0f O 1.00
AR 298A R
43i% R 7 0 0 1 1 0 2 2 10 0.0 0.0 14.2| © 5.85
LLIF5 2 0 0 1 01 0 0 0 O 0.0 0.0 50.0/ O 4.00
ARt 10 3 2 3 2 0 0 0 O O 300 500 80.0 O 2.40
2818 (MN—#%) 4 2 1 0 1 0 0 0O 0 O 50.0 75.0 75.0, 0 2.00
(ZOAth—A) 3 0 1 2 0 0 0 0 0 O 0.0 333 100.0| O 2.66
N BERIBA 20 oftc) 3 1 0 1 1 0 0O 0 0 O 33.3 33.3 66.6| 0 2.66
ne 3 1 0 1 0 O 0O 0 O 33.3 33.3 66.6/ O 3.33
ERizx 285A R
4475% SRR
LLIF5 5 0 1 2 1 1 0 O O O 0.0 20.0 60.0/ O 3.40
AR i0 1 2 0112 3 0 O 100 30.0 30.0 O 4.70
2931 (MN—A) 5 1 1 0 0 1 1 1 0 0 20.0 40.0 40.0 0 4.20
(ZOA—#) 1 o0 0 0 0 0 1 0 0 O 0.0 0.0 0.0 0 6.00
5 HAGHE =3 30| *ofte#®)| 4 o0 1 0 1 0 0 2 0 0 0.0 25.0 250/ 0 5.00
ne
ERizx 295A R
407% PEZ /N 3 0 2 1 0 0O O O 0 O 0.0 66.6 100.0/ O 2.33
LLIF5 2 0 0 1 0 0 1 0 0 O 0.0 0.0 50.0/ O 4.50
ARiE% 8 0113 00 210 0.0 125 25.0 O 4.87
3306 (MN—A) 5.0 1 1 2 0 0 1 0 0O 0.0 20.0 40.0 0 4.00
(ZOA—#) 2 0 0 0 1 0 0 0 1 O 0.0 0.0 0.0 0 6.00
ALl BEE 40 (=otcH) 1 0 0O 0 O O O 1 0 O 0.0 0.0 00/ o 7.00
ne| 1 0 0 0 0 0O OO 1 O 0.0 0.0 0.0/ O 8.00
ERix 33HA R
267% PEZ /N 1 0 0 0 0 01 0 O O 0.0 0.0 0.0/ O 6.00
LL1B5 4 1 1 1 0 1 0 0 0 O 25.0 50.0 75.00 0 2.75
7

NEIEIRFEREBZERVTHE, FFICHEOFOFRITEFHEOESRANYT




